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This is all messed up, because | confused a '3’
with a '2" and used one then the other,
interchangeably. I'm attaching lecture notes with
limit as x approaches 3 version of this, to the end
of this document, and you should do limit as x
approaches 2, with this as a guide.
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This is all messed up, because I confused a '3' with a '2' and used one then the other, interchangeably.  I'm attaching lecture notes with limit as x approaches 3 version of this, to the end of this document, and you should do limit as x approaches 2, with this as a guide.
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" “~get our string of "=" with at least one "<"
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Since square root of x is positive, we're making the denominator
a little smaller, which makes the fraction a little bigger, so the
one on the left is smaller than the one on the right.
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